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1 100kN/m#E# 2 % — -~ = — |3mEEAL| — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEEAZD — ~ — — —
ThList 1.00 | 0.00 ~ 6.85 86.67 | TN [ 000 ~ 685|203 10.89 Thst 1.00 | 5.00 ~ 9.88 86.67 | Thst | 5,00 ~ 9.88 | 2.03 10.89
2 100kN/ Mm% 2 % — -~ = — |3mEEAL| — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEHEAZD — ~ — — —
ThList 1.00 | 0.00 ~ 6.07 76.14 | =04 | 000 ~ 607|212 11.37 Thst 1.00 | 5.00 ~ 9.09 76.14 | Ths | 500 ~ 9.09| 212 11.37
3 100kN/ Mm% 2 % — -~ = — |3mEEAE| — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEEAZD — ~ — — —
ThList 1.00 | 0.00 ~ 7.58 97.04 | #nS | 0.00 ~ 758|219 11.73 Thst 1.00 | 5.00 ~ 10.02 97.04 | ERLS | 5,00 ~ 1002] 2.19 11.73
4 100kN/ Mm% 2 % — -~ = — |3mEEAE| — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEHEAZD — ~ — — —
ThList 1.00 | 0.00 ~ 5.09 63.41 | =N | 0.00 ~ 5.09 | 2.26 12.09 Thst 1.00 | 5.00 ~ 8.50 63.41 | EhLS | 5,00 ~ 850 | 2.26 12.09
5 100kN/m%E#Bz25| 1.00 | 000 ~ 023 103.35 |3mEBZD| — ~ — — — | 100kN/mi%E#8Z25 | 1.00 | 1096 ~ 11.57| 103.35 |3m%E#Z5D — ~ — — —
ThList 1.00 | 0.23 ~ 801 100.00 | =hist | 000 ~ 801 | 2.34 12.52 Thst 1.00 | 5.00 ~ 10.96 100.00 | =St | 5.00 ~ 11.57 | 2.834 12.52
6 100kN/m%E#BZ25| 1.00 | 000 ~ 027 103.96 |3mZEBZD| — ~ — — — | 100kN/mi%E#8Z25 | 1.00 | 1053 ~ 11.25| 103.96 |3mZE#Z5 — ~ — — —
ThList 1.00 | 0.27 ~ 805 100.00 | =nist | 000 ~ 805 | 2.19 11.73 Thst 1.00 | 5.00 ~ 1053 100.00 | =nLst | 5,00 ~ 11.25| 2.19 11.73
” 100kN/mM%E#BZ % — -~ - —|3mEEZSL[ — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEZS -~ — - —
Thilst 1.00 | 0.00 ~ 5.88 73.63 | =S | 000 ~ 588 | 1.90 10.16 Fhst 1.00 | 5.00 ~ 6.98 73.63 | Fhst | 500 ~ 6.98| 1.90 10.16
P 100kN/mM%E#BZ % — -~ - —|3mEEZSL[ — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEZS -~ — - —
Thilst 1.00 | 0.00 ~ 6.21 77.97 | FhLS | 000 ~ 000 1.57 8.38 TnLlst 1.00 | 5.00 ~ 8.01 77.97 | Fhs | 500 ~ 801 | 1.57 8.38
9 100kN/mM%E#BZ % — -~ - —|3mEEZSL[ — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEZS -~ — — —
Thilst 1.00 | 0.00 ~ 6.25 78.45 | =St | 0.00 ~ 0.00 | 1.58 8.47 Fhst 1.00 | 5.00 ~ 7.90 78.45 | Fhst | 500 ~ 7.90| 1.58 8.47
10 100kN/mM%E#BZ % — -~ - —|3mEEZSL[ — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEZS -~ — — —
Thilst 1.00 | 0.00 ~ 4.79 59.67 | EnLSY 000 ~ 479 | 1.83 9.81 TnLlst 1.00 | 5.00 ~ 5.14 59.67 | Ths | 5,00 ~ 5.14 | 1.83 9.81
100kN/M%E#BZ % ~ 3mEEBZD ~ 100kN/m%#8 2 % ~ 3ImEHBR D ~
Zzhs ~ Znest ~ Znest ~ Zzhps ~
100kN/mM%E#BZ % ~ 3mEEZD ~ 100kN/mM% 82 % ~ 3SmEHBR D ~
Zzhs ~ Znest ~ Znest ~ Zzhps ~
100kN/mM%E#BZ % ~ 3mEBZD ~ 100kN/m%#8 2 % ~ 3ImEHBR D ~
Zzhps ~ Znest ~ Znest ~ Zzhps ~
100kN/mM%E#BZ % ~ 3mEEZD ~ 100kN/m%#8 2 % ~ 3ImEHBR D ~
s ~ Znest ~ Znest ~ Zzhs ~
100kN/mM%E#BZ % ~ 3mEEZD ~ 100kN/m% 82 % ~ 3ImEHBR D ~
Zzhs ~ ZnLst ~ ZnLst ~ Zzhs ~
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